
ǣȂǽȉȋ:
ǧ. ǣ. ǧȉȋȉ ǧ. Ǜ. ǜǻȈȍȉǽǻ
ǧǻȍȀȇǻȍȃȅǻ 2 1



2

ǧȈȉȁȀȤȀ ȃ ǿȀȣȀȤȀǼȋȉȢȀǽǻ ȅȉȢȃ ȌȀ ȂǻǽȋȓǻǽǻȢȎ ȈȎȆȉȇ
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20 Å 4

2 ǿȀȌȀȍȃȑȀ Å 4 = 8 ǿȀȌȀȍȃȑǻ

20 Å 4 = 80

60 : 2

6 ǿȀȌȀȍȃȑǻ : 2 = 3 ǿȀȌȀȍȃȑȀ

60 : 2 = 30

3 Å 20

20 Å 3 = 60

3 Å 20 = 60

ǫǻȂȇȉȍȋȃ ȃȂȋǻȂȀ ȃ ȉǼȢǻȌȈȃ ȋȀȓȀȤǻ.
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10 ȢȀǿȃȈȃȑǻ = 1 ǿȀȌȀȍȃȑǻ

20 Å 4

2 ǿȀȌȀȍȃȑȀ Å 4 = 8 ǿȀȌȀȍȃȑǻ

20 Å 4 = 80

60 : 2

6 ǿȀȌȀȍȃȑǻ : 2 = 3 ǿȀȌȀȍȃȑȀ

60 : 2 = 30

3 Å 20

20 Å 3 = 60

3 Å 20 = 60

ǫǻȂȇȉȍȋȃ ȃȂȋǻȂȀ ȃ ȉǼȢǻȌȈȃ ȋȀȓȀȤǻ.
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10 ȢȀǿȃȈȃȑǻ = 1 ǿȀȌȀȍȃȑǻ

20 Å 4

2 ǿȀȌȀȍȃȑȀ Å 4 = 8 ǿȀȌȀȍȃȑǻ

20 Å 4 = 80

60 : 2

6 ǿȀȌȀȍȃȑǻ : 2 = 3 ǿȀȌȀȍȃȑȀ

60 : 2 = 30

3 Å 20

20 Å 3 = 60

3 Å 20 = 60

2 ǿȀȌȀȍȃȑȀ Å 4 =

8 ǿȀȌȀȍȃȑǻ = 

8 Å 10 ȢȀǿȃȈȃȑǻ =

80 ȢȀǿȃȈȃȑǻ

ǫǻȂȇȉȍȋȃ ȃȂȋǻȂȀ ȃ ȉǼȢǻȌȈȃ ȋȀȓȀȤǻ.
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10 ȢȀǿȃȈȃȑǻ = 1 ǿȀȌȀȍȃȑǻ

20 Å 4

2 ǿȀȌȀȍȃȑȀ Å 4 = 8 ǿȀȌȀȍȃȑǻ

20 Å 4 = 80

60 : 2

6 ǿȀȌȀȍȃȑǻ : 2 = 3 ǿȀȌȀȍȃȑȀ

60 : 2 = 30

3 Å 20

20 Å 3 = 60

3 Å 20 = 60

2 ǿȀȌȀȍȃȑȀ Å 4 =

8 ǿȀȌȀȍȃȑǻ = 

8 Å 10 ȢȀǿȃȈȃȑǻ =

80 ȢȀǿȃȈȃȑǻ

6 ǿȀȌȀȍȃȑǻ : 2 =

3 ǿȀȌȀȍȃȑȀ =

30 ȢȀǿȃȈȃȑǻ

ǫǻȂȇȉȍȋȃ ȃȂȋǻȂȀ ȃ ȉǼȢǻȌȈȃ ȋȀȓȀȤǻ.
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10 ȢȀǿȃȈȃȑǻ = 1 ǿȀȌȀȍȃȑǻ

20 Å 4

2 ǿȀȌȀȍȃȑȀ Å 4 = 8 ǿȀȌȀȍȃȑǻ

20 Å 4 = 80

60 : 2

6 ǿȀȌȀȍȃȑǻ : 2 = 3 ǿȀȌȀȍȃȑȀ

60 : 2 = 30

3 Å 20

20 Å 3 = 60

3 Å 20 = 60

2 ǿȀȌȀȍȃȑȀ Å 4 =

8 ǿȀȌȀȍȃȑǻ = 

8 Å 10 ȢȀǿȃȈȃȑǻ =

80 ȢȀǿȃȈȃȑǻ

6 ǿȀȌȀȍȃȑǻ : 2 =

3 ǿȀȌȀȍȃȑȀ =

30 ȢȀǿȃȈȃȑǻ

3 Å 2 ǿȀȌȀȍȃȑȀ =

2 Å 3 ǿȀȌȍȃȑȀ =

6 ǿȀȌȀȍȃȑǻ =

60 ȢȀǿȃȈȃȑǻ

ǫǻȂȇȉȍȋȃ ȃȂȋǻȂȀ ȃ ȉǼȢǻȌȈȃ ȋȀȓȀȤǻ.
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530. ǣȂȋǻȒȎȈǻȢ:
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530. ǣȂȋǻȒȎȈǻȢ:

40 : 2 20 Å 2 100 : 5 2 Å 40 3 Å 30

30 Å 3 90 : 3 30 Å 2 2 Å 50 4 Å 20
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530. ǣȂȋǻȒȎȈǻȢ:

40 : 2 = 20 20 Å 2 100 : 5 2 Å 40 3 Å 30

30 Å 3 = 9090 : 3 30 Å 2 2 Å 50 4 Å 20
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530. ǣȂȋǻȒȎȈǻȢ:

40 : 2 = 20 20 Å 2 = 40100 : 5 2 Å 40 3 Å 30

30 Å 3 = 9090 : 3 = 30 30 Å 2 2 Å 50 4 Å 20
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530. ǣȂȋǻȒȎȈǻȢ:

40 : 2 = 20 20 Å 2 = 40100 : 5 = 20 2 Å 40 3 Å 30

30 Å 3 = 9090 : 3 = 30 30 Å 2 = 602 Å 50 4 Å 20
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530. ǣȂȋǻȒȎȈǻȢ:

40 : 2 = 20 20 Å 2 = 40100 : 5 = 20 2 Å 40 = 803 Å 30

30 Å 3 = 9090 : 3 = 30 30 Å 2 = 602 Å 50 = 1004 Å 20
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530. ǣȂȋǻȒȎȈǻȢ:

40 : 2 = 20 20 Å 2 = 40100 : 5 = 20 2 Å 40 = 803 Å 30 = 90

30 Å 3 = 9090 : 3 = 30 30 Å 2 = 602 Å 50 = 1004 Å 20 = 80
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531. ǪȉȊȎȈȃ ȍǻǼȀȆȀ:
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531. ǪȉȊȎȈȃ ȍǻǼȀȆȀ:

b 0 1 2 3 4 5

20 Å b

c 3 2 1 0

c Å 30
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531. ǪȉȊȎȈȃ ȍǻǼȀȆȀ:

b 0 1 2 3 4 5

20 Å b

c 3 2 1 0

c Å 30 90
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531. ǪȉȊȎȈȃ ȍǻǼȀȆȀ:

b 0 1 2 3 4 5

20 Å b

c 3 2 1 0

c Å 30 90 60
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531. ǪȉȊȎȈȃ ȍǻǼȀȆȀ:

b 0 1 2 3 4 5

20 Å b

c 3 2 1 0

c Å 30 90 60 30
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531. ǪȉȊȎȈȃ ȍǻǼȀȆȀ:

b 0 1 2 3 4 5

20 Å b

c 3 2 1 0

c Å 30 90 60 30 0
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531. ǪȉȊȎȈȃ ȍǻǼȀȆȀ:

b 0 1 2 3 4 5

20 Å b0

c 3 2 1 0

c Å 30 90 60 30 0
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531. ǪȉȊȎȈȃ ȍǻǼȀȆȀ:

b 0 1 2 3 4 5

20 Å b0 20

c 3 2 1 0

c Å 30 90 60 30 0
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531. ǪȉȊȎȈȃ ȍǻǼȀȆȀ:

b 0 1 2 3 4 5

20 Å b0 20 40

c 3 2 1 0

c Å 30 90 60 30 0
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531. ǪȉȊȎȈȃ ȍǻǼȀȆȀ:

b 0 1 2 3 4 5

20 Å b0 20 40 60

c 3 2 1 0

c Å 30 90 60 30 0
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531. ǪȉȊȎȈȃ ȍǻǼȀȆȀ:

b 0 1 2 3 4 5

20 Å b0 20 40 60 80

c 3 2 1 0

c Å 30 90 60 30 0
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531. ǪȉȊȎȈȃ ȍǻǼȀȆȀ:

b 0 1 2 3 4 5

20 Å b0 20 40 60 80 100

c 3 2 1 0

c Å 30 90 60 30 0
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